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Too big for our boots?

Every ten years, the average person in Europe grows about another 13 mil​limetres. Every year, more and more truly big people are born. So welcome to the high society, or, to be more accurate, welcome back to it. To understand the reasons for this return to our former height it is necessary to look back on our history. For most of our evolutionary past, our ancestors got their food from a wide variety of sources: while women were gathering herbs, fruits and berries, men were adding to our diet by killing wild animals. One study found that the "hunter-gatherers" used to have a diet of 85 different plants, for example.

Then, about 9,000 years ago, agriculture was invented — with disastrous results. Most of our planet's green places were taken over by farmers, which meant that just three plants — wheat, rice and maize — became the staple diet of the human race. This left us smaller and less healthy. Still, agriculture spread because a piece of farmland could support ten times the number of people who lived off it as hunter-gatherers.

During the last ice age, 10,000 years ago, people were slightly rounder and taller as an answer to the cold. Large round bodies are undoubtedly better at keeping in the heat! Since our climate began to get hotter, we appear to have become slightly thinner and smaller. As global warming begins to take effect, we may shrink even further Mankind's future could be that of a couch potato, a lazy creature, with a taste for far too much junk food, comfortable sofas and home entertainment. Some scientists say that not enough exercise will result in humans developing smaller skeletons and bodies, which are too fat. On the other hand, nowadays, in Europe, America and Japan, diets are beginning to be what they were before.

As a result, heights in some countries are soaring, but the world has not yet been intelligent enough to come to terms with this. A standard European bed length was fixed in 1860, while the height of a door was decided in 1880 and both have remained the same ever since. Even worse, the leg room in some planes and trains seems to have shrunk rather than grown. The question is, where will it all end? We cannot carry on growing forever!

Завдання 1. Прослухайте текст і поставте знак «+» поряд з номерами речень, які відповідають його змісту:

1. Humans are rapidly reaching the height they were long ago.

2. Our ancestors were never short of food.

3. The hunter-gatherers had a healthier, more varied diet.

4. Agriculture had been invented before the last ice age.

5. As global warming begins to take effect, people grow faster.

6. According to some experts, our future is rather gloomy.

7. Invention of agriculture had disastrous results for the mankind.

8. Our diets are beginning to be what they were before.

9. A standard European bed length was fixed in the last century.

10. Humans change their size and shape according to their environment.

Завдання 2. Прослухайте текст вдруге і позначте знаком «+» правильний варіант відповіді

11. How much does the average person in Europe grow every ten years? 
a)  13 millimetres; b) 23 millimetres;

c)  30 millimetres.

12. What were ancient women gathering?

a) Vegetables, fruits and berries; b) herbs, vegetables and fruits;

c)  herbs, fruits and berries.

13. When was agriculture invented?

a) About 8,000 years ago; b) about 9,000 years ago;

c)  about 10,000 years ago.

14. Which three plants were feeding the human race?

a) Wheat, rice and potatoes; b) wheat, potatoes and maize;

c) wheat, rice and maize.

15. How many people could a piece of farmland support?

a) Five times the number of people who lived off it as hunter-gatherers.

b) Nine times the number of people who lived off it as hunter-gatherers.

c) Ten times the number of people who lived off it as hunter-gatherers.

16. How did the last ice age affect people?

a) They were slightly rounder and taller.

b) They were slightly rounder and shorter.

c) They were slightly heavier and taller.

17. What nickname is given to a lazy person in the text?

a)  Coach potato; b) Couch potato;

c)  Conch potato.

18. Where are diets beginning to be what they were before?

a) In Europe, America and Japan;

b) in Europe, North America and Japan;

c) in Europe, Africa and Asia.

19. When was a standard European door height fixed? 
a)  In 1860; b) in 1870; c)  in 1880.

20. Has the leg room changed in some planes and trains?

a)  It hasn't changed. b)  It seems to have shrunk,

c)  It seems to have grown.
ЧИТАННЯ

Уважно прочитайте текст і виконайте завдання 1 та 2. 

Olympic Ins and Outs

Over the years, a number of changes have been made to the Olympic Games. Sports which had declined in popularity I were eliminated from the Games alto​gether. New, more popular events were added. While the purpose of the Olympic Games has stayed the same, the changes made to Olympic events reflect the world's attitude toward and involvement in sports.

Only four sports — track and field, fencing, gymnastics, and swimming have been included in all of the Games since 1896.

Over the years, many events have been eliminated from the Games. Some were taken out after only one Olympic year. Underwater swimming, for example, was held only at the 1900 Games. In this unusual event, two points were given for every meter that was swum under water. Another point was given for every second that the swimmer stayed under water. Other sports that have been eliminated include alpine combined skiing, golf, motor boating, rugby, and the tug-of-war. Some of the more unusual events that have been eliminated include deer shoot- * ing, and live-pigeon shooting.

In the early days of the Olympics, many "national" sports were added to the program. It was hoped that this would make the sports popular in other coun​tries. If few countries became interested in the sport, however, it was eventually eliminated. This is what happened to golf and to some sailing events. Only three countries participated in the early golf events. And in many of the sailing events, only one boat entered the competition.

The International Olympic Committee is in charge of admitting sports into the Games. To be admitted, a sport must be popular in at least fifty countries on three continents.

Artistic events were first included in the 1912 Games. They continued to be part of the Olympics through the 1948 Games. Contests were held in the follow​ing areas: architecture, sculpture, painting, music, and literature. The works of art were supposed to be inspired by sport. Problems in transporting the art works and lack of interest led to the elimination of the arts competition.

Table tennis was added to the 1988 Summer Games. Women's judo and tae-kwon-do were added as demonstration sports, and bowling and badminton as ex​hibition events. No medals are awarded in demonstration and exhibition events.

Завдання 1. Позначте правильний варіант відповіді знаком «+»: 

1.  The purpose of the Olympic Games:

А) has changed; b) has stayed the same;

С) has been added.

2) Only four sports have been included in all of the Games since 1896:       А)swimming, jumping, gymnastics and running;

В)  swimming, fencing, track and field, tennis; 

С) swimming, fencing, gymnastics, track and field. 
3.Among the sports taken out of the Games was scuba diving; 
а) boating; >

в)live-pigeon shooting.

4.To be admitted, a sport must be popular 
А) in at least five countries on three continents; 

В) in at least fifty countries on five continents; 

С) in at least fifty countries on three continents. 

5.Artistic events were eliminated from the Olympics 
А)after the 1912 Games.
 b) after the 1948 Games;

с)after the 1988 Games.

6. The elimination of the arts competition was caused by 
a)  lack of financing; b) lack of interest; c)  lack of participation.

7. Tae-kwon-do was added to the Olympic Games

a)  as an exhibition event; b) as a demonstration sport;

c) as a spectacular sport.
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History Jokes

His name was Fleming, and he was a poor Scottish farmer. One day, while trying to make a living for his family, he heard a cry for help coming from a nearby boy. He dropped his tools and ran to the boy. There, mired to his waist in black muck, was a terrified boy, screaming and struggling to free himself. Farmer Flem​ing saved the boy from what could have been a slow and terrifying death.

The next day, a fancy carriage pulled up to the Scotsman's place. An elegantly dressed nobleman stepped out and introduced himself as the father of the boy farmer Fleming had saved.

"I want to repay you", said the nobleman. "You saved my son's life". "No, I can't accept payment for what I did", the Scottish farmer replied, waving off the offer. At that moment, the farmer's own son came to the door of the family hovel. "Is that your son?" the nobleman asked. "Yes", the farmer replied proudly. "I'll make you a deal. Let me take him and give him a good education. If the fellow is anything like his father, he'll grow to a man you can be proud of.

And that he did. In time, farmer Fleming's son graduated from St. Mary's Hospital Medical School in London, and went on to become known throughout the world as the noted Sir Alexander Fleming, the discoverer of Penicillin.

Years afterward, the nobleman's son was close to death from pneumonia. What saved him?

Penicillin. The name of the nobleman? Lord Randolph Churchill. His son's name?

Sir Winston Churchill

Task 1. For each of the questions 1—10 decide which of the statements are true or false on the basis of what is stated or implied in what you have heard and put a "+" if a statement is true and a "-" if a statement is false next to the cor​responding number on your answer sheet.

Remember: you are NOT allowed to take notes at ANY time when the text is being read to you.

1. The text mainly tells about ordinary events in history.

2. At the beginning of the story, the farmer was bathing in a river.

3. There must have been an accident with a little boy.

4. The action takes place nowadays.

5. The farmer's children were all girls.

6. The little boy's father wanted to give the farmer a sum of money.

7. The farmer seemed to know the importance of knowledge.

8. The nobleman's prediction did not come true.

9. The boy glorified his family name.

10. Sometimes wonderful coincidences happen in life.

Task 2. For each of the questions 11 -20 decide which of the answers (a, b, с or d) best complete the statements on the basis of what is stated or implied in what you have heard and mark the corresponding letter with a "+" on your answer sheet.

	11.
	It may be inferred from the text that the
	Fleming family lived:

	a)
	in the south of Great Britain;
	b)
	in the north of Great Britain;

	c)
	in the centre of Great Britain;
	d)
	outside Great Britain.

	12.
	The farmer must have been:
	
	

	a)
	kind and wealthy;
	b)
	noble and proud;

	c)
	hardly able to make ends meet;
	d)
	idle and suspicious.

	13.
	One can make a conclusion that the
	saved boy's father was:

	a)
	a successful farmer;
	b)
	a good hunter;

	c)
	an aristocrat;
	d)
	a beggar.

	14.
	The farmer's son must have been:
	
	

	a)
	worth pride;
	b)
	a wonder kid;

	c)
	a nobleman;
	d)
	from Ireland.

	15.
	The nobleman's offer was:
	
	

	a)
	rather stupid;
	b)
	just and generous;

	c)
	not worth considering;
	d)
	never accepted.

	16.
	After receiving his education, young Fleming was supposed to:

	a)
	work with customers;
	b)
	sell medicines;

	c)
	look for criminals;
	d)
	treat patients.


17. Alexander Fleming discovered:

a) a penny ceiling; b) a pan sealing;

c) penicillin; d) pennies while pealing.

18. Fleming's discovery made him:

a) cruel and dangerous; b) famous worldwide;

c) thrilling and exciting; d) quite boring.

19. The word "sir" before Fleming's name may mean that he:

a) became as noble as Churchill;

b) came from Syracuse;

c) performed in a circle;

d) was a sergeant in the British Army.

20. One can infer from the text that:

a) the Flemings and the Churchills were close friends;

b) Alexander Fleming may not necessarily have seen Winston Churchill after the childhood accident;

c) Winston Churchill almost died from the medicines given by Fleming;

d) Alexander Fleming was Winston Churchill's personal doctor.  
ЧИТАННЯ

Directions: For each of the questions 1—10 decide which of the answers (a, b, с or d) best complete the statements on the basis of what is stated or implied in the text and mark the corresponding letter (a, b, с or d) with a "+" on your answer sheet

American English spelling differs from British English spelling largely because of one man, American lexicographer Noah Webster. In addition to his well-known American Dictionary of the English Language, Webster published The American Spelling Book (1783, with many subsequent editions), which became one of the most widely used schoolbooks in American history. Webster's books sought to standardize spelling in the United States by promoting the use of an American language that intentionally differed from British English. The development of a specifically American variety of English mirrored the new country's separate political development. Webster's most successful changes were spellings with or instead of our (honor, labor for the British honour, labour); with er instead of re (center, theater for the British centre, theatre); with an s instead of а с (defense, license for the British defence, licence); with a final ck instead of que (check, mask for the British cheque, masque); and without a final к (traffic, public, now

also used in British English, for the older traffick, publick). Later spelling reform created a few other differences, such as program for British programme. Canadian spelling varies between the British and American forms, more British in eastern Canada and more American in western Canada.

Statments

1. The passage mainly discusses:

a) Noah Webster's literary heritage;

b) the varieties of spelling;

c) Webster's political preferences;

d) popular schoolbooks in America.

2. The passage implies that written British and American words:

a) look absolutely different; b)  are absolutely the same;

c) may differ; , d) come from Canada.

3. It may be inferred from the passage that Webster's scientific interest was in: a) standards; b) vocabulary;

c) editing books; d) political reforms.

4. The changes between American and British English were generated: a) on purpose; b) by accident;

c) in Canada; d) by politicians.

5. The word "subsequent'' in line 4 may most probably mean the following:: a) different; b) expensive;

c) following; d)  literary.

6. One can make a conclusion that Webster's changes:

a) simplified the language;

b) were of no importance;

c) made the language more difficult for understanding;

d) developed the language used in Great Britain.

7. The word "mirrored" in line 8 is closest in meaning to: a) portrayed; b) reflected;

c) generated; d) prevented.

8. It can be seen from the passage that the changes brought into American English must have:

a) developed a completely new language;

b) stopped using dictionaries;

c) required spelling books;

d) influenced the original British English.

9. The passage states that in Canada:

a) people use the only variety of the English language;

b) people live only in the east and the west of the country;

c) there may be language misunderstanding between people from different regions of the country;

d) people use different grammar rules compared to the US. 10. The passage implies that of the two books mentioned in it:

a) neither was published;

b) both were printed at the same time;

c) the Spelling Book was published before the Dictionary;

d) the Dictionary was published before the Spelling Book.

